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% Grey line: exponential fit Peak flux: 5.034+/- 0.530 c/s/cm? %
; Black Iing: power law + gauss fit Fluence : 26.17+/- 3.31 c/cm? E
= Dashed line: power law . =
E Duration: 15.50+/- 2.66s e
E | Best fit model: 1. =
g Best fluence model: 1. E
= Best duration model: 1. E
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; Exponential fit é
= Expon.time: 4.66+/- 0.67 s (chi*red= 0.98) J
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; Power law fit é
= Power law index: -2.121+/- 0.234 (chi’-red= 0.98) 3
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—  Power law fit plus Gaussian (st.dev.= 8.62+/-12.30 s, fracgs= 0.00+/- 0.00) =
= Power law index: -2.029+/- 0.016 (chi’*-red= 0.99) 3
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